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All questions are compulsory.

W FHTF 1 ] 8 aF ANfaerEady wra § | vl Y W1 3F aEfea )
Question Nos. 1 to 8 are very-short answer type questions. Each
question carries | mark,

VA #FH 9 R 12 7& Fg3wid ¥ €1 @S W W 3 3iF yefea €)
(W F Ahray wes-Hm 50 1 ?)

Question Nos. 9 to 12 dre short answer type questions. Each question
carries 3 marks. (Maximum word-limit of answer is 50 words)
TTAHATE 13,018 7% <daaia ¥ § 1 Wl WA 1 aniafiE fawew ¥
Tl YA Y4 3iF dAnifea § 1 (3 F Afumen y=2-whm 75 o= §)
Qucstion Nos. 13 to 18 are long answer ty pe questions. Each question
has.intemal choice. Each question carries 4 marks. (Maximum word-
limit of answer is 75 words)

YT FH 19 W 24 7% dId ¥ ¥ ) weldw we 9 Iafts fawew €
TEF WA T 6 3w dmfea 1 (I F afywan w=-dm 250 v=z ¥)
Question Nous. 19 to 24 are long answer type guestions. Each question
has intcrnal choice. [iach question carries 6 marks. (Maximum word-

limit of answer is 250 words)
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-1 I wran w snar wel fea w67 il

Where is the siudy of consumer behavionr done”

73-2 43 W wrm few aran o mem @ 2 m
Which type ol marken is brichs mathel?

WA-3  wfveqmam ) (]
What is token money?

W4 - F N W et a g2 M
Which bank issues notes?

WA-5 W SR fFat v F fog e £ 2 (1)
IFor how much times is the government hudget made?

WA-6 weTTRFRFEAEL? (]
What is deficit budget?

wyR-7  wefya wea fafiog @ fed @ €2 [
What is called managed floating exchange raic?

Y-8 WX afamen fRd wea €2 [
What is called closed economy?

WA-9 Wi I R 3ne w2 W fafag) [2+-1=3)
What is meanby marginal production? Write its formula.

wA-10 Yo oo vd ewiiven 4 sim fafag (9 ) [1+1+1=))
Write differcnce between perfect competition and  monupoly
{any three).

WA-11 3@ TR F wa fegia W@ F . ¥ fagia f @ d Sm
Lovd] [1+1+]1=3)
State any three differcnces between classical theory and Keynesian
theory of income and employment.

W-12 Wy gin § yy@ w9 R e G ) wfa fem o & (@ A2 (1414023

How many demands are included in the aggregate demands (any fhree)?
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Write  measures 1o correct the ymbalance in the halance of
payments (any Sfour).

ryar
OR
h{ﬁﬁmmtwﬂmﬁ:!ﬁfm(mml

Argue in favour of stable exchange rate (any four).

WA-14 TR ) frdwanedl =) fafag (9% wm))

: [1etelel=d]
Write the features of the budget (any four).

Herar
OR

WER) FH F avawm = vt & (3 7)) ?
Why government budgel is required (any four)?

WA-1S v F 4 ofd % dwfers wiovm s €2

[4)
Whal is the altemative definition of currency supply in India?

erar
OR

= 4 3 v fifag (2 W) |

[141+]+1=4)
Write the.tnodemn work of Commercial Banks (any four).

wA-16 Tl e H wwe sifem =qg, e W e ¥ wie w@ f

1 ? sren Afaq)

Explain why all the last expenditure in an economy is equal to the
total factor payment.

[4]

aar
OR

fordt Jn & e & Fadvie & w0 F wow W) 392 N F9 Wiy
=\ farflarg)

Write some limits of GDP as the co-ordinatc of the welfare of a
country,
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How does the average fixed cost curve look Iike? Why does it leok
like this?

Ny

OR
Adawre Wi S A st T s 49 e 8 [4)
llow do long marginal cost and average cost curves look like?
=fe @& wnfe sehma ) sosfer fnkan ) e SfaQ [2+2-4]

Explain the mutual depenilence of micro- and macro-cconomics.

ey

OR
arafas e W snevieE snde ¥ s W wifag
(F% w0 (14141 +1=4]

Explain the diffcrence between real ecanomics and ideul economics

(any four)
wr-19  freifen aleEs fafes am oM dofees warg smg w) o
Ffeg : [3-3=6]
. Wb (wAE ) |
() w9t T - 8,000
(i) fazel | wa fram wnw s - 200
(i) HfIARA AN - 1,000
() fm ax - 500
(v) wfant gy e - 1,500
(vi) oftant gro yram fem s = - 1,200
(vii) 30 3 ~ 300
(viir) FafeTs & - 500
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Bax i '
ed on the l'ollowmg information, calculate |
Disposable Income .

‘ersonal Income and

Mems Rs. (In Crore)

() Net domestic product on factor cost R.0G0
(i) Extemnal secured net finctar income 200
(i) Undistributeq profit - 1,000
(iv)  Corporation tax - 500

(v)  Intercst reccived by families - 1,500
(vi) Intercst paid by families - (1,200
(vin) Transfer income - 300
(viii) Personal tax - S0

Jua
< Q@ OR
Frem ] 394 faf 70 T o 8 o i
ﬂ%@\@* s (wdg )

(0 ﬂ%‘“@ - 0%

(i) fetrn -

(ifi) ™ B 13

(iv) = -

(v) I T

(vd) et vty fafr i "

(vi) & ket faf ) v
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1&]
Rased on the following information, calculate Natioaal Income by

evpeniditure methasd

Ttemas Re (in Crupe)
(1) Nalanes amd wagces § e
(Y Remt TLH)
(10 Profit - 1,300
iiv)  Interest - SO0
(v)  Consumption expenditure 4,000
(vi) Gross domestic investment - 1.500
(vii) Net forcign investment - 1.000
U¥-20  HER & o fegia #1 ameea fafay (5 5:) ) (6)
Write critiques of Keynes's employment theory (any six).
Huay
OR
argivurs win & s fafay (9% oe) |
Write the causcs nf\éb:cssi\'c demand (any six).
N
wyA-21 & A wafoa = §—
(37 R s,
(%) ¥fem s Fn? (3436

What happens when the prevailing price in the market is-
(@) greater than equilibrium price;
(4) less than equilibrium price?
aar
OR
WIHT YEQ T AR YE W S e Fifag (F 0) | [6]

Explain the difference between normal price and market price
(any six).
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22 g ) wfan ey ey et Y fafrm (oY o) 1°]
Write the clements allectimg suppls fany vix)
gy
OR
T Y A o &2 g 8 iy €2 2471

4 .
What docs clasticity of supply mean? How is it measured?

WA-23 W R i w0 A e 7 s W (3 00 ) 4]
Explain the elements offecting demand (any six).
HuaT
OR
Hn & frm am @ ¥ Fnoi w = Ff (3 o)

Explain the reasons why the rules of demand applied (any six).

UyA-24 A2EEW aE *) v smen Ay [6]
Explain the indifference curve with diagram.

Huar
K\Q& OR

nﬁmﬁmﬁ,@%omﬂmmaﬁm&ﬁqmmﬁuﬁa
T &, ﬁg&mﬂmmmt?

Ifthe in&'lc of the consumer increases from Rs. 20 to Rs. 40 but the
price remains unchanged, then what changes are there in the budget line?
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